WESTERN STAR TRUCKS®

Wakefield Tru_cks

R

Wakefield Trucks

Wakefield Trucks Pty Ltd As Trustee for WAKEFIELD TRUCKS UNIT TRUST

A.B.N. 66 552 129 628

1174 - 1180 Port Wakefield Rd, Burton, SA 5110
P O Box 440, Salisbury, SA 5108

Ph: 08 8280 8133

ARC Authority No. AU10557

Fax: 08 8280 6712
www.wakefieldtrucks.com.au

Vs

20- CARRIED OUT FULL VEHICLE INSPECTION.

- NO REVERSE LIGHTS(RSF TAIL LIGHT ASSEMBLIES)

- LHS BRAKE + CLEARANCE LIGHT INOP(RSF FAILED CLEARANCE LIGHT)
- DRIVERS SEAT BELT NEEDS REPLACING(RSF SEAT BELT)

- ELECTRIC HORN INOP(RSF FAILED HORN)

- CHIP IN LHS WINDSCREEN

- EXHAUST CLAMP RUBBING ON CAB MOUNT BRACKET(ADJUSTED EXHAUSTS)

- A/C BELT CRACKING

- FAN BELT HAS A FEW SMALL FRAYS FROM STONES
- OIL LEAK AT FRONT OF HEAD, TIMING CASE AREA
- LHS CAB MOUNT WORN(RSF CAB MOUNT, REPAIRED BROKEN CAB MOUNT

BRACKET)

- MOVEMENT IN BONNET PIVOTS

- RADIATOR FINS BLOCKED(STEAM CLEANED)

- RHF DRIVE AIR BAG CRACKING

- RHR DRIVE BRAKE BOOSTER OVER STROKING

- TRACK RODS ON DRIVE NEED BUSHES

- BRAKE HOSE ON FRONT DRIVE RH NEED REPLACING(RSF HOSE)
- O-RING ON DIFF COOLER MANIFOLD LEAKING

- LHS REAR OF FUEL TAP LEAKING ON TAP(RSF FAILED TAP)

- FLY WHEEL HOUSING LEAKING(RSF FAILD SEAL)

- REAR ENGINE MOUNTS WORN(RSF MOUNTS)

- STEER TYRES WEARING OUTER EDGES
- TAIL LIGHTS HELD ON BY ZIP TIES

- T/TABLE MOUNTING PLATE CRACKED AND HAS BEEN WELDED TO ANGLES
EXCESSIVE MOVEMENT IN T/TABLE JAWS, NO ADJUSTMENT LEFT
- TOP PLATE WEARING BOLT HEADS DOWN

- LH INTAKE PIPES NEED REPLACING

- RH+LH STEER BRAKE HOSE NEEDS REPLACING(RSF HOSES)
- CLUTCH FORK GRINDING INTO PRESSURE PLATE(RSF CLUTCH AND MACHINED

Invoice # 576526 TAX INVOICE *REPRINT* R/O# R75226 Page 1 of 3
Doc. Date Customer Rego Stock No. Adviser
16/06/2015 Used Vehicles Reconditioning 5718 5718 JS
Order No. PO Box 440 Manufacturer Kms Build Period
SALISBURY SA 5108 WESTERN STAR TRUCK 993,926 | 00/0000
Customer Code Vin Delivery Date
USEREC ABN 5KKXAF00XAPAP8987 00/00/0000
User Code User Name and Address Engine No Chassis No \Warranty Date
Brenton Luckraft 79361926 AP8987 00/00/0000
LUCBRE PO Box 48 " - -
ORROROO SA 5431 oce Version ocy Type
4964FXC SIG EGR PM
Next Service Date Date & Time In Body Color
Contact Brenton Luckraft
Ph 00/00/0000 27/04/2015 08:00
. (Home)
Ph. (Work) 8658 1419 Next Service Kms Date & Time Promised Hours Booked
Ph. (Other) 0428 581 419 0 27/04/2015 16:30 100.00
Product Description Quantity Price Excl.
USED RECONDITIONING Claim # :
LI LABOUR INTERNAL 100 9.400.00

Continued ...




WESTERN STAR TRUCKS®

Invoice# 576526

Wakefield Tru_cks

R

TAX INVOICE *REPRINT*

Wakefield Trucks

Wakefield Trucks Pty Ltd As Trustee for WAKEFIELD TRUCKS UNIT TRUST
A.B.N. 66 552 129 628

1174 - 1180 Port Wakefield Rd, Burton, SA 5110
N P O Box 440, Salisbury, SA 5108
Ph: 08 8280 8133

Fax: 08 8280 6712

www.wakefieldtrucks.com.au
ARC Authority No. AU10557

R/O# R75226

Page 2 of 3

Vs

SuB

SuB

SuB
1221022034
L24VT8334A11
94816HNAR
631013404S
522033434
1221021055
54X8
14CX1
14WH
14CNN
4965569
208938583
K3768
120043402
120043401
3678740
106C1498
252103407
13835
13653
13834
5568544
4965688
3026134
CLTO08P
85003
38FX214
38WH
38FNN
4305294
5007417
34FX5
34FNC
34WH
5007417

FLY WHEEL, RSF INPUT SHAFT, RSF REAR MAIN SEAL)

- DRAG LINK HAS EXCESSIVE MOVEMENT(RSF DRAG LINK)

- LH KING PIN ON LIMIT FOR MOVEMENT

- P-CLAMPS ON TRANS COOLER LINES FAILED(RSF CLAMPS)

- FRONT DRIVE PRIMAX BUSHES HAVE MOVEMENT
- RHR SLACK ADJUSTER FAILED(RSF ADJUSTER)

- DOWNLAODED FAULT CODES, RECONNECTED CRANK SENSOR PLUG, R&R RHR TYRE

AND SET ABS SENSOR GAP. ALL OK.

CHECK FAULT CODES

MACHINE CUMMINS FLYWHEEL
FACE FLYWHEEL HOUSING ONLY
HOSE #8-C/B-06MPTXSAE 45 SWVL
LINK-DRAG STD AXLE AUST

MDL 48 LED REVERSE HZL & R/GKT
HORN-ELECTRIC 12V

BELT-SEAT 3 POINT

HOSE 8 C/B (2) SAE 45 SWVL END
ELBOW-45-MALE-SAE-45 FLARE/NPT
1/4 X 1 UNC GR5 ZP BOLT

1/4 ZP GR8 HARDENED WASHER
1/4 UNC ZP NYLOC NUT

KIT SEAL

CLUTCH KIT-14SPL 2.00 EP ADVAN
CLUTCH INSTALLATION KIT
MOUNT-ENGINE UPPER 55 DURO
MOUNT-LOWER ENGINE DURO 55
F/WHEEL BOLT(SIGNATURE)
SHAFT-CLUTCH

SHAFT-CLUTCH RELEASE RH
ORING

O-RING

O-RING

O RING

GASKET FLYWHEEL HOUSING
GASKET

TUBE-LUBE T/O BEARING

ELBOW 5/32IN PUSH X 1/8IN NPT
3/8 X2 1/4 UNF GR5 ZP BOLT

3/8 ZP GR8 HARDENED WASHER
3/8 UNF ZP NYLOC NUT
GASKET-SHIFT C

BOLT-SPL H/R RETAINER 12MM
3/4 X 5 UNF GR8 ZP BOLT

3/4 UNF CONELOCK NUT

3/4 ZP GR8 HARDENED WASHER
BOLT-SPL H/R RETAINER 12MM

AN 2 a2 a DN O R a2 aAa a AN 22N a2 a

RN
N

AN 2 a2 D a aAa N 2 A a a aa aa a NN

99.18
114.00
308.00

73.44
461.60
220.00

26.16
319.50

39.32

3.72
0.80
0.48
0.28
212.17
1.414.74
265.00

95.98

90.68
222.60

18.01

71.75

1.60
4.18
0.34
0.68
179.07
15.17
10.58
6.73
0.71
0.16
0.17
4.31
4.28
3.59
1.25
0.82
4.28

Continued ...



ELCIHEI A Trucks
A |

MA N

Wakefield Trucks

Wakefield Trucks Pty Ltd As Trustee for WAKEFIELD TRUCKS UNIT TRUST
A.B.N. 66 552 129 628

1174 - 1180 Port Wakefield Rd, Burton, SA 5110

P O Box 440, Salisbury, SA 5108

Ph: 08 8280 8133  Fax: 08 8280 6712

WESTERN STAR TRUCKS® www.wakefieldtrucks.com.au
ARC Authority No. AU10557
4 \
Invoice # 576526 TAX INVOICE *REPRINT* R/O# R75226 Page 3 of 3
[ A1866875001 ISOLATOR-CAB SUPPORT-FRT-SOFT 1 57.31)
V590P8 VALVE BALL 1 34.26
12498 GLOBE BAYONET 12V 21W BA15S 1 0.66
34FX212 3/4 X 2 1/2 UNF GR8 ZP BOLT 8 17.60
34FNC 3/4 UNF CONELOCK NUT 8 10.00
34WH 3/4 ZP GR8 HARDENED WASHER 16 6.56
540203419MDC ~ BUTTON-SNAP-HAMPTON-PANEL-TAN 8 47.20
223465V PRESSURE PROT VALVE 2 53.92
1868X6X6 CONNECTOR-Q/C A/B J844 MALE 2 5.32
1869X6X6 ELBOW-Q/C A/B J844 MALE 90 DEG 1 4.60
1868X4 CONNECTOR-Q/C A/B J844 MALE 1 2.26
1869X4X4 ELBOW-Q/C A/B J844 MALE 90 DEG 1 3.97
1869X4S ELBOW MALE SWIVEL 1/4 X 1/8 1 5.66
1869X4S ELBOW MALE SWIVEL 1/4 X 1/8 1 5.66
BW236577 GASKET,GOVERNOR 1 1.43
Sub Total: 13,951.74
L J
Parts: 4,030.56
Banking Details: Labour: 9,400.00
Wakefield Trucks Pty Ltd Others: 521.18
ggrg:mooesr;vi/f;th Bank - Salisbury Sub Total:
Acc No: 0033 2073 Total GST: 0.00
Rounding: 0.00

Total: 13,951.74



